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Iy similar body structures;

On the Galapagos Islan
f finch birds exist. These birds have vé
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In this activity, you will be 2 play the role of a finch bird fighting ff)r :
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ected determines survival, which bird(s) have th

Name:
2. If the amount of food coll
survival?
f
i d have a large pumber O
o e P a:inamount of food. The gurviving

Over a 25 year time period, the birds ¢ - e
urvive due to a limite :
s s similar to their parents.

ing. Not all of these offspring > due ] ¢
S d?lce with each other and the offspring inherit trait
years.

birds repro
3. Predict what type of bird beak(s) will be seen in the population after 25
ation of finches on the Galapagos
e on the

A scientist named Charles Darwin discovered this popul . lap
i i i began to study them. During his fime O
Islands. He took an interest 1 the population and beg y b D oms

islands, he developed his theory of natural selection. Darwin ca h four
that must occur in order for natural selection to occur: (_1) there rrgus}: bgtvlil)ll'lat;)ll(l1 la )amore

i iati t on must be heritable, an¢.
population, (2) variation mus Jitions are met,

affect survival, (3) variation !
offspring are produced than can su hypothesized that if these con
evolutionary changes will occur.

rvive. Darwin
In the table below, identify how the finch population met each of the four conditions B ’

necessary for natural selection to occur.
Application to the Galapagos Finches ‘X

Darwin’s 4 Conditions for
Natural Selection

Variation in a population.

Variation must affect survival.

Variation must be heritable.

More offspring are produced than
can survive.

4. Complete the summary to show how natural selection occurred in the population of fiches

The finches with beaks have an increased chance of survival

because

These finches are more likely to
. Over a long period of time, the population of finches will

and pass this trait onto their

change so that
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